SEHAHPE S BB TAE  HEHf: 96.07.19

&t o . Yk |E— gigred
3-5 EHIT B
& HEH e 2

— > H7eRE(ERE 10 53)
(sin78° +1ic0s78°)°(sin87° —i cos87°)

l 3
(sin50° +isin 40°)
| f
Yy - NS
[: f'] 5!
(i)
B = (cos12° +isin12°)°(cos3°—isin3°)" _ (cos72° +isin 72°)[cos(~12°) +isin(-12°)]

(cos40° +isin 40°)° c0s120° +isin120°
. 1 3.

=c0s(72° — 12° — 120°) + isin(72° — 12° — 120°) = cos(— 60°) + isin(— 60°) _———|

2.sin111° +isin201° [ Ei Ay =" £
[EJZ_i ] c0s339° + isin339°
EJZi]
sin111° +isin201° = sin(90° + 21°) + isin(180° + 21°) = c0s21° — isin21°
= €0s(360° — 21°) + isin(360° — 21°) = c0s339° + isin339°

3. Fz==3i0 1] ()1 = S GLEES Lt
]’ ](1)3(c0537+|sm—) (2)—
(i)
i 3 3 3
(1)z=-3i= 3[O+(—i)]:3(cos?ﬁ+isin7ﬁ) (2)Argz:7ﬂ
4. 3 ﬁ*') =
(] - 64
(o]
—B3+i (BHi)A+i)  (—VB+i)A+i)
1-i  @-i)@a+i) 2
—\/_(—\/_ —)(\/_ \/_) ﬁ(cos%+isin%)(cos%ﬂsin%)

RN 5 ... 5 T . TT\q12
BV =[4/2(cos=rx +isin=x)(cos— +isin—
P = [V2(cos oz +isincm)(cos+isin )]

= (v2)(cos107 +isin107z)(cos3z +isin3z) =64 -1 - (—1)=—

5. F%: f J—I » FI(L) 2V =R - (22%=
]Zé 1) COS%—HSIH%T 21
(7]

£1H



\/§—i Z(Q—EI) 2(c05&+isin&) 37 37
2 2 6 6 :cos—+isin7

(l)Z:1+\/§i V3.

T . .. T
Sl 2(Cos— +1sin —
2(2 3 i) ( 2 3)

(2) 22 = (cos 32 +isin 32 )X = cos (1507) + isin (1507) = 1

6. #z+1/=3]2-1) Arg(i—_i):% SRz o -
+

. 2+3i
Uil .~
{]:T_'Ei—]
- _ |Z_1|_i,-\/ Z__lzz
_\/§|z 1= |z 1|_\/§ Arg(z+1) 3
IR f Jiﬂ.ip \/_(cos isin%)=%(§+§i):%
PN : N (2V3+1) ++/3i
2J3(2-1) = 1+3i)(z2+1) = (23 -1-3i)z = 23 +1+/3i @Z_(zﬁ—n-@i
_[(2V3+1) ++3il[(2V3-1) ++/3i] _ 8+12i _ 2+3i
(24/3-1)2+3 16-443 4-3
7.(1+cosZ+isinZ )’ = .
3 3/
(7] 343
(o)

(1 +cosZ +isin % )? = (2cos? Z + 2isin Z cos Z )?
3 3 6 6 6

- (2cos%)3(cos%+ isin%)3= (\/5)3(cos% + isin%) = 3J3i
8. = (cos137° +isin 763°)(c0s369° +isin171°) _

T cos(—26°) — i sin 334°
e —1+4/3i
(i) >
(i)
Bt

_ (cos137° +isin (720° + 43°))(cos (360° + 9°) +isin (180° - 9°)) _
- cos 26° — i sin (360° — 26°) -
(cos137° +isin 43°)(cos9° +isin 9°)

C0S 26° + isin 26°
_ (cos137°+1isin137°)(cos9° +isin 9°)
- C0S 26° + isin 26°

=€0s(137° + 9° — 26°) + isin(137° + 9° — 26°) = —%+§ i
9. Hilljz = 243 + 2ifUfj =" £  HREC B AR :

i) d(cos+isin ) (4 <]

£2H



(7]
2=2+/3 +2i> |z =/(2V/3)2 +22 =4

§+%i) =4 (cos%+ isin%) PR z A=Y oz Ay AR R[4 %]

1O.j*Arg(1—1i) =

z=4(

CaDN

&0
1 _ 1+i _1+i_ii i :i £ z , izz
1_|_(1_|)(1+|)_ 2 _\/E( 2+ 2') \/E(COS4+ISIn4) Arg(l_l) 1

£3H



